

Resolver Ecuaciones 7

HSEPREP.COM

HSEPREP@GMAIL.COM

$$11) 2 \left(\frac{1}{5}x - 8 \right) = \frac{-76}{5}$$

$$12) 5 (3x - 3) = 150$$

$$13) 5 \left(\frac{-2}{3}x + 10 \right) = \frac{70}{3}$$

$$14) 7 (9 - 5x) = 483$$

$$15) 6 (- 5 + 3x) = 168$$

$$16) - 6 (9 - x) = - 84$$

$$17) - 6 (2 - 3x) = 168$$

$$18) \frac{3}{4} \left(\frac{1}{4} + 3x \right) = \frac{-33}{16}$$

$$19) - 4 (5x + 3) = - 152$$

$$20) 6 (4 - 2x) = \frac{68}{3}$$

HSEPREP.COM

HSEPREP@GMAIL.COM

Resolver Ecuaciones 7

HSEPREP.COM

HSEPREP@GMAIL.COM

$$11) 2\left(\frac{1}{5}x - 8\right) = \frac{-76}{5}$$

$$x = 2$$

$$12) 5(3x - 3) = 150$$

$$x = 11$$

$$13) 5\left(\frac{-2}{3}x + 10\right) = \frac{70}{3}$$

$$x = 8$$

$$14) 7(9 - 5x) = 483$$

$$x = -12$$

$$15) 6(-5 + 3x) = 168$$

$$x = 11$$

$$16) -6(9 - x) = -84$$

$$x = -5$$

$$17) -6(2 - 3x) = 168$$

$$x = 10$$

$$18) \frac{3}{4}\left(\frac{1}{4} + 3x\right) = \frac{-33}{16}$$

$$x = -1$$

$$19) -4(5x + 3) = -152$$

$$x = 7$$

$$20) 6(4 - 2x) = \frac{68}{3}$$

$$x = \frac{1}{9}$$

HSEPREP.COM

HSEPREP@GMAIL.COM